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+ 522 * 524 * 534 * (Ksap o Ksdpz) © [ 2'2px,a 2’322, 6d T’
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=592+ 522822 832 ° J (Kaapz*s ua”-xx +e “a"a)(Ksqup * up™+xx +e “brb)dr’
+s22 522822 533° J (Kaapz® wa-xx e “a"a)(Kaqpp * up”2+xy - e “brb)dc’
+822 522 822 834 J (Kaapo* pa™xx ce “a'a)(Ksapn * up?2exz *e #brb)d ¢’
+522° 522523 832° | (Ksdpz* pna”2xx ce “a’a)(Kgapp * b2+ yx »e “brb)d ¢’
+ 592 * S22 * S23 * 833 ¢ J (stA2 TN RS S e*Mara)(KSdAA c up2 ey e #brb)d ¢’
+522° 522 593834 | (Ksdpz* pa”2xx ce “a’a)(Kgapp * up/2+yz +e “brb)d’
+s522 822 s24°832° [ (Kadpo® pna™xx *e “a’a)(Kaqpp * up?2+2x + e #brb)d ¢’
+s22° 522 524833 J (Kaapz* pa”xx e “a’a)(Ksapp * b2+ 2y +e “brb)dc’
+522 822 824 831° § (Kaapae pna”+xx »e “a"a)(Kgapp * uv?2+77 +e #brb)dc’
+ 822+ 823+ ~3dxXy~ + + 4+ - -
+ 592 ¢ s94 + ~3dxz’~ + + 4+ - - -
+ 823 * ~3dy’x’~ e
+ 823 * ~3dy’y’~
+ 823 * ~3dy’z~
+ 824 + ~3dz’x’~

+ + + 4+ 4+
+ + + 4+ 4+

+ 824 + ~3dz'y~
+ 824 + ~3dz'z’~

= 8925922 * 522 532 * (Ksapn Ksang) * [ x’saxv2,a x'sax2,pd T’

+
+
+
+
+
+

+
+

+ 522 * 522 * 522 * S33 * J x3dx2,a X '8dxy,bd T’

+ 522 * 522+ 822 ° 834 * J x'3dx2,a X 3dxz,bd T’

+ 522 * 522 * 523 * S32 * J x3dx2,a X 3dyx,bd T’

+ 5922 * 522 * 523 * 833 * (Ksapn/ Ksdpz) * § x’sdxv2,a % '3dy2,bd t’
+ 522 * 522 * 523 * 834 J x3dx2,a X 8dyz,bd T’

+ 522 * 522 * s24 * S32 ° J x8dx2,a X '8dzx,bd T’

+ 522 * 522 * S24 * S33 * J x3dx2,a X '8dzy,bd T’

+ 522 * 592 * 524 * s34 * (KsdpapnKsdp2) * [ x’3ax2,a X 'sdz2, b d t’
+822 822 823° ~ x3dxy,a ~ t 0+ 4+ e e e

+ 892 ° S22 * S24 * ™~ X '3dx7,a + + o+ e
+ 822 ¢ 823 * ~ x 3dyx,a "~

~
+
+ 822 ¢ 823 * ~ x'3dy’2,a ~ +
+ 8922 823 ~ x'8dyz,a ~ +

+

+ 822 * 824 * ~ X '3dzx,a ™~

+ 4+ 4+ o+ 4+
+ 4+ 4+ o+ 4+

+ 822 ¢ 824 * ~ x'3dzy,a "~

+

+822*824° ~ x'3dw2,a ~ t+ +
=522+ 522 * 522 * 532 (K3dpp Ksdanz) (8do 0,3do 0)+s22* s22 522 833(3d o 0,3do =)
+ 8922 * 822 * 822 * 834(8d o 0,3d o)
+ 522 * 522 * 523 * $32(8d 0 0,3d 0 )+ s22 * 522 * s23 * 833 (Ksapn Ksdpz) (8do 0,3dx n)
+s22 * 523 * 834(8d o 0,3d 7w )
+ 822 * S22 * s24 * $32(3d 0 0,3d 0 7w)+s22 ¢ S22 ¢ s24 * s33(8d o 0,3d7w 7w)
+522 ¢ 522 * 824 * s34 (Ksapn Ksanz) (Bdo 0,3d7n =)
+ (Ksap2/ Ksapps) * {s22+s2s* ~Bdon,~ + ++ ¢+ +~@Bdnn,~ + ]}
+ (Ksap2/ Ksapps) * {se2+ s ~Bdon,~ + + ~@dnzn,~ + + + +}



